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Fun Facts!

        2                 2                   2
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Where is 2222? 

• 2222 is a palindrome (reads the  

     same way forwards as backwards) 

• 2222 is all 2’s!!! 

• 2222 = 2 x 11 x 101 (prime factors) 

                    =
 22 x 101 

                    =
 2 x 1111 

                    =
 …… 

 
• 2 + 2 + 22 = 26 

• 26 = 5  +  1 

             = 8   -  7   +  6   -   5 

             = 1 + 3 + 4 + 5 + 6 + 7 

             = …….

Today is 2 / 2 / 22 !
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Magic Square

Today’s BIG birthdays…
Today is  

2 / 2 / 22!

What’s a, b & c?

The circles contain the sum of the letters in the  

adjoining 2 squares. (eg a+b = 2).  What’s a, b 

& c? 
 

Harder: The circles are products of the 
adjoining 2 squares. What’s a, b & c now? 



 
                      

   

 
 
 

 

Today is 

2 / 2 / 22!

ANSWERS NEXT PAGE…

Can you work these out? 
1.


	 a. 2 + 2 + 2 + 2 =



	 b. 2 - 2 - 2 - 2 =

 

	 c. 2 x 2 x 2 x 2 = 



	 d. 2 ÷ 2 ÷ 2 ÷ 2 =



	 e. 2 + (2 + (2 + 2)) =



	 f. 2 - (2 - (2 - 2)) =



	 g. 2 x (2 x (2 x 2)) =



	 h. 2 ÷ (2 ÷ (2 ÷ 2)) =





        Were you surprised by any of your results? Which ones, and why? 









2. By using different operators (+, - , x, ÷) can you make each of these equations work?



	 a.   2    2    2   =    2



	 



    	 b.   2    2   =   2    2







	 c.   2   =   2    2    2 


2222 arithmetic



 
 
 
 
 

 
 
 
 
 

 
 
 

 
 
 

 
 
 

 
 
 

varies

varies
99 100 101 102 103 704 2 12017

20 2020
21 2121
22 217822002222224422662288

23 2323
24 2424
25 2525

563 550 560 21 a

558 555

556 553 2 2

561 562

b 22 C

Addition as 9,5 11,611
Multiplication a Ez b c fz

ANSWERS (1/2)

Where is 2222?
 TODAY’S very BIG BIRTHDAYS…

Magic Square What’s a, b & c ?
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END

ANSWERS (2/2)

Can you work these out? 
1.


	 a. 2 + 2 + 2 + 2 =



	 b. 2 - 2 - 2 - 2 =

 

	 c. 2 x 2 x 2 x 2 = 



	 d. 2 ÷ 2 ÷ 2 ÷ 2 =



	 e. 2 + (2 + (2 + 2)) =



	 f. 2 - (2 - (2 - 2)) =



	 g. 2 x (2 x (2 x 2)) =



	 h. 2 ÷ (2 ÷ (2 ÷ 2)) =





        Were you surprised by any of your results? Which ones, and why? 









2. By using different operators (+, - , x, ÷) can you make each of these equations work?



	 a.   2    2    2   =    2



	 



    	 b.   2    2   =   2    2







	 c.   2   =   2    2    2 



